
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

1 

CF146 
BMW F900XR 

 
Kit for the left side  Kit for the right side 

ID Description Cat.No. Pcs  ID Description Cat.No. Pcs 

1 Dural. roller (l=27,5mm) 1366 1  1 Dural. roller (l=23mm) 1365 1 

2 Dural. roller (l=62mm) 1361 1  2 Dural. roller (l=11mm) 1362 1 

3 Bolt M12x100mm 986 1  3 Bolt M12x110mm 946 1 

4 Bolt M10x65mm 1012 1  4 Bolt M10x65mm 1012 1 

5 Al insert  X116 1  5 Al insert  X116 1 

6 Plastic cover  X60 1  6 Plastic cover  X60 1 

7 Washer M10 804 1  7 Washer M10 804 1 

8 Bolt M8x30mm 834 1  8 Steel adapter X159 1 

9 Sticker RDmoto  1  9 Sticker RDmoto  1 

 
We recommend using medium-strength thread glue. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

2 

Left side :  
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Bolt ID.3 (M12x100mm) + 

dural. roller under frame ID.2 

(l=62mm) + Al insert ID.5 + 

plastic cover ID.6 

Bolt ID.4 (M10x65mm) + 

dural. roller under frame ID.1 

(l=27,5mm) + washer M10 

ID.7 

Bolt ID.8 (M8x30mm) for 

connecting frames 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

3 

Right side :  
 

 

 
 

 

 

Bolt ID.3 (M12x110mm) + 

dural. roller under frame ID.2 

(l=11mm) + Al insert ID.5 + 

plastic cover ID.6 

Bolt ID.4 (M10x65mm) + 

dural. roller under frame ID.1 

(l=23mm) + washer M10 ID.7 

Steel adapter ID.8 

Original bolt 


